
FOG BURST FOR PFI/9D

8

10

13

5

6

7

9

3

2

1

14

15

4

11

12

7

FOG BURST VALVE REV-A

FOG BURST VALVE REV-B

16



PARTS LIST
DESCRIPTIONPART NUMBERQTYITEM
 RM-PTS-00305-BOTTOM PART11
 RM-PTS-00322-PLASTIC SHIM12
 RM-PTS-00300-TOP PART13
6-32 X 1-1/4" SOCKET CAP SCREW S.S.RM-HAR-0036234
BRASS PIPE REDUCER 1/4 X 1/8RM-PTS-4118515
1/4" AIR NIPPLE TO 1/4" MALE NPTRM-PTS-4122516
FOG BURST VALVE 110V SC826H202RM-PTS-0031717
G3000 BLACK HOSE COVERRM-HAR-0031618
1/2" PLASTIC STRAIN RELIEFRM-ELX-2100019
GREY NEUTRIK FEMALE LINE POWER OUTRM-PTS-41390110
 3in adapter soild113
 RM-HAR-21195-NO.8 SCREW312
8/32" NYLON LOCK NUTRM-HAR-21160113
#8-32 X 3/4 PHILP PAN HEAD B/ORM-HAR-30635115

PARTS LIST
DESCRIPTIONPART NUMBERQTYITEM
 RM-PTS-00305-BOTTOM PART11
 RM-PTS-00322-PLASTIC SHIM12
 RM-PTS-00300-TOP PART13
6-32 X 1-1/4" SOCKET CAP SCREW S.S.RM-HAR-0036234
BRASS PIPE REDUCER 1/4 X 1/8RM-PTS-4118515
1/4" AIR NIPPLE TO 1/4" MALE NPTRM-PTS-4122516
FOG BURST VALVE 110V SC826H202RM-PTS-0031717
 RM-ELC-23335-DIN CONNECTOR111
18/3 SJOOW CABLERM-CAB-00008112
GREY NEUTRIK FEMALE LINE POWER OUTRM-PTS-41390110
 3in adapter soild111
#8-32 X 3/4 PHILP PAN HEAD B/ORM-HAR-30635112
8/32" NYLON LOCK NUTRM-HAR-21160116
 RM-HAR-21195-NO.8 SCREW314

PARTS LIST

ITEM QTY SALES NUMBER DESCRIPTION

1 1 CXP 1711
3" AIR AMPLIFIER BOTTOM PART
 
PFI-9D FOG BURST AMPLIFIER ASSEMBLY

2 1 CXP 1711
PLASTIC SHIM 3" CIRCLES FOG BURST
 
PFI-9D FOG BURST AMPLIFIER ASSEMBLY

3 1 CXP 1711
3" AIR AMPLIFIER TOP PART
 
PFI-9D FOG BURST AMPLIFIER ASSEMBLY

4 3  #6-32 X 1- 1/4 SOCKETCAP SCREW S.S.

5 1 CXP 1715 BRASS PIPE REDUCER 1/4 X 1/8

6 1 CXP 1238 1/4" AIR NIPPLE TO 1/4" MALE NPT

7 1  
FOG BURST VALVE 110V
 
FOG BURST VALVE 220V

8
0.750 M
 

2.4606 LF(Linear Foot)
CXP 4245 G3000 BLACK HOSE COVER LF

9 1 CXP 1222 1/2" PLASTIC STRAIN RELIEF

10 1 CXP 4198 GREY NEUTRIK FEMALE LINE POWER OUT

11 1 ICE JET DIN CONNECTOR

12
1.500 LF(Linear Foot)

 
0.457 M

18/3 SJOOW CABLE

13 1 3" AIR AMP MOUNTING BRACKET

14 3 CXP 1272 #8 X 1/2" SELF TAPPING SCREW B/O

15 1 CXP 1296 #8/32" NYLON LOCK NUT

16 1 CXP 1294 8/32 X 3/4" PAN PHILIPS HEAD B/0

FOG BURST FOR PFI/9D



9D PFI FOG BURST

9D FOG BURST VALVE REV-A

9D FOG BURST REV-B



POWER FOGGER INDUSTRIAL FOG BURST

PFI FOG BURST REV-A

PFI FOG BURST REV-B

REVISION HISTORY

REV# DATE

A 24/08/2018


	9D & PFI Fog Burst Exploded-R-A-1
	9D & PFI Fog Burst Exploded-R-A-2
	9D & PFI Fog Burst Exploded-R-A-3
	9D & PFI Fog Burst Exploded-R-A-4

